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public class Base {
Base() {
System.out.printin("Base");
}

}

public class Sub extends Base {
public static void main(String argv(]) {
Sub ¢ = new Sub();
super();

Sub() {
System.out.printin("Sub");
}
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public class MyException extends Exception {}

public class Base {
public void foo() throws Exception {

throw new MyException(); 1

}

public class Sub extends Base {

public void foo() throws MyException {} 2

public void main(String[] args) {

Base base = new Sub(); 3

try {
base.foo(); 4
} catch (MyException e) {




a) Composite
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b) Scanner

¢) GridData

d) SelectionAdopter

e) BufferedInputStream
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public abstract class A

public static int foo(int a, int b)
...l[lassume some fine code instead of the ...

public abstract int goo(int a, int b);

}
public class B
{ public static void main(String argv([])
{inta=A.foo(5,7); }
}

public class C extends A

public static void main(String argv[])
{inta=A.foo(5,7); }

}
public class D extends A
{
public static void main(String argv[]¥{
D d = new D();
int a = d.goo(5,7);
}
public int goo(int a,int b){
return(a+b);
}
}
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public class A
public class B implements Runnable
A(PPN DY TIPA MATNI 7.7 WINDIN) RIN 19IND DPNIPH DINWN MY DTN
A a=newA(...);

B b =newB(...);
VYT PDININ XD 12) D9NPNN DR 1IN MININ MNYNIN NNN DD
a.run();
(VYT )0 NN NIVNN DN ODIN /ND /3D 19907P010
b.run();
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Thread t = new Thread(a); t.start();
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Thread t = new Thread(b); t.start();
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public class Cell<T> {
private T content;
private Cell<T> next;

public Cell (T content, Cell<T> next) {
this.content = content;
this.next = next;

}

public T getContent() {return content;}

public Cell<T> getNext(){ return next;}

public void setNext(Cell<T> next)y{
this.next = next;

}
}
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Interface MouseListener

Method Summary

void |nouseDoubl ed i ck(MouseEvent e)
Sent when a mouse button is pressed twice within the (operating
system specified) double click period.

void |nouseDown(MouseEvent e)
Sent when a mouse button is pressed.

void |nmouseUp(MouseEvent e)
Sent when a mouse button is released.

public abstract class MouseAdapter extends Object implements MouseListener

Method Summary

void |nouseDoubl ed i ck(MouseEvent e)
Sent when a mouse button is pressed twice within the (operating
system specified) double click period.

void |nmouseDown(MouseEvent e)
Sent when a mouse button is pressed.

void |nmouseUp(MouseEvent e)
Sent when a mouse button is released.
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public class Question 8 {
public Question 8() {

Display display = new Display();

Shell shell = new Shell(display);
shell.setText(" Click your mouse");
shell.setSize(200, 100);

shell.open();
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while(! shell.isDisposed()) {
if(! display.readAndDispatch()) {

display.sleep();

display.dispose();

public static void main(String[] args) {

new Question 8();
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